KHTE #HEER

KE=ZERT. BMYUPBORE LI —BEET 270,

SH6EI0822H (AER) 1450759
MM - v (KIER) 1485075

Bl

SM6£E10A22H (KFER)

At ERFTTEROBERNRIEZ—HLBWHEEDLH D,

Y AR iERS) B=H [Ekzikax: = BIHE
5 1,177 120,488 55 4 121,724 69 %
RxE 692 46,333 47,025 110 %
= 1,869 166,821 55 4 168,749 7 %
Bfi kg, M
# o . TN I ENFEflE
x| e g |REAE HEAR TEm Y= w0l =6 s e
HE|ZTWIA 35,495 [& W AL 380 |F%E 10 594 432
ES 10 864 648
By 10
GERS 35,115 | T 10 | 1,296 [ 1,080 864
ES 10 | 1,512 | 1,404 | 1,350
£ 10 | 1,620 1,296 | 1,188
M 970 | &%t 970 | T 0.8
a3k 5
By 0.8
ICALCA 6,610 | #Ex 6,610 |dtiEE 10 [ 1,512 1,188 972
FE 10 | 1,188
BH 10
F Ry 4,500 | HEx 4,500 |35 10 | 1,620 | 1,404 | 1,210
FE 10
By 10
L &2 910 | WAL 110 Z%3% 10
RE 10
£ 10 | 1,080 864
X 800 |Zxi, 10
=¥ 10
B 10 | 1,080
F<En 1,000 [& Y AAL 100 (=% 15
B30 13
B Hb 15
GERS 900 | K& 15
5 13
B 15
ZEOhk 1,740 |2 Y AAL 25 |z 0.2 86
B 0.5
£ 0.5
GERS 1,715 |8k 0.2 76 54
R 0.5
B 0.5
EFI>NAZ D 2,455 (&Y AR 45 |35, 0.2




- HM6EL0H228 (KIER) 14E074

HIFTHE - @&
KHTE #HHETR $HM6E108228 (KER)
B kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#ﬁ% —
FEHR aniE Hi| =fE B =&
Z 0.2 119 97
By 0.17
GERS] 2,410 |F#E 0.2 162 108
ZiH, 0.2 140 76
By 0.17 151 86
hE 938 | X 938 |dbiEE 5
ES 5 2,808 | 2,700 | 2,376
By 5 648
Zoyay— 1,808 |[& 4 AAL 72 [duiEE 6
RE 6
B 4
GiEPS) 1,736 |duia& 6
=¥ 6
B 4
Ewol) 6,470 &Y AAL 25 |35 5
BE 5 2,808 2,700
BH 5
ERS] 6,445 B 5 3,240 | 1,728
BE 5 3,240 | 2,808 | 2,592
By 5 3,564 | 3,024 | 2,808
N ESCR 7,380 | #@xd 7,380 [dbiEE 10 | 2,700 | 2,484 | 1,404
By 10
AN 4,048 | W AR 18 |=*n 0.4
5 0.4
& 0.3
X 4,030 |=%0 0.4
5 0.4 162 108 86
By 0.3
k< b 2,941 [€ Y AAL 172 |F%E 4 1,080 864 756
A& 4
BH 4
zhs) 2,769 [T 4 3,240 | 1,620 864
REA 4 3,240 | 2,700 [ 2,376
B H 4
IZhkw b 531 | B 531 [rEA 3 2,700 1,620
FEE 3 3,240
& 0.2 270 259 238
E—< 3,547 (€Y AAL 58 | 2RI 0.15
=F 0.15
By 0.15
GEpS 3,489 |Z 0.15 130 108 97




SM6E108228 (ABER) 14150759

HIFTHE - @&
KHTE #HHETR $HM6E108228 (KER)
B kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#ﬁ% —
FEHR aniE Hi| =fE B =&
=F 0.15
B 0.15
Cehd 4,020 | N 4,020 |dtiEE 10 | 1,620 1,134
B 10
EoF0D 10,140 | #Ext 10,085 | 5 1,080 756 648
ZiH, 5 1,836 | 1,620 | 1,296
By 5
E=H b5 |FE 5
I, 5
By 5
e 1,080 [& W A#L 140 [#&B/E 10 | 3,564 | 3,240 1,944
FEE 4
BH 10
GERS 940 1B=E 10 | 6,480 | 3,240 [ 2,700
FE 4
B 10 | 4,860 4,320
ToERE 5,520 | 8% 5,520 |dbiEE 20 | 1,944 1,836
By 20
mELWET 104 | 48 104 |#kH 0.1
=F 0.1 130 119 92
£ 0.1 259 97
Z DEF 19,517 | Y AAL 32
GEpS 19,481
[ERzipal::: 4
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SM6E108228 (ABER) 14150759

HIFTHE - @&
KHTE #HHETR $HM6E108228 (KER)
B kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#ﬁ% —
FEH aniE Hi| =fE B =&
RE [AHHhA 4,578 | % 4,578 |gEA BMELEHMA| 8
RI& BELEHNA| 10
B BBLEHRNA| 10 | 3,240 3,024
WAZ 10,950 | #@% 10,950 [&F Sard—iL k| 10
5 A% JaFId—LF| 10
£ Hh Yard— K| 10
ES BAESL | 10| 6480 | 5940 | 5,724
WL BAESL | 10| 3456 3,024
Ry B4 L | 10| 3240 2,700
RE vF/ 24—k 10
157 vF/ZA4—=F] 10
=82 >+ /24—F| 10
7L 485 | A3 485 |B B e 10 | 45320 4,104
= ] 10
i e 10 | 6,156 5,400
mEFET L 5,602 | BN 5,602 |ILfE Z 77V 5 2,376 | 1,080 864
RE 777V Z&| 5
By Z 77 1 216
hE 15,447 (& v A4l 3 (k& =FS) 10
&k =Es] 10
£ Hh =¥ <) 75
ZFH R ER 4
BH KRB
L i f 7.5
=R S EZi 75
By iz 75
L TR 7.5
= TR 7.5
£ Hh TR 75
A 15,444 |l 2 =28 10
& ] 28 10
Ky =¥ =) 75 | 3,240 3,024
FH BB 4
B REB 2
fOER L e | 75
=R i f 7.5
& Tigfm | 75| 2484
IR TR 7.5
=R TR 75 | 2,700 2,484
£ TR 7.5 | 3,240 3,024
SES 8,547 | Y AfL 689 | K2 swAv<xAhl 5

4,5




SM6E108228 (ABER) 14150759

HIFTHE - @&
KHTE #HHETR $HM6E108228 (KER)
B kg, M
x| i HEHE |RFTEHE BEAR — Eﬂ#ﬁ% —
FEM Y Hi| =18 B 21
i Sy v<RA| B 8,100 | 6,480 | 6,264
£ Hh Sy Av<RA|l 5
K% B g 0.35
Tig B I 5
&b E g 5
R 1L B —x 5
K% B —x 5
BHh B A —x 5
GERS] 7,858 | K& v r<RAA| 5 9,180 | 8,100 | 7,344
LY srvAvezAh| 5 8,100 | 5,400
&b SvAvwRA| 5 7,560 [ 2,700
REP E & 0.35 702 356
HLEY E g 5
b B & 5 7,560 [ 7,020 | 5,940
e 1Ly B —x 5
RE B —* 5 8,100 | 7,560 | 7,020
B EF—% 5
<Y 950 | B 950 |, 1 1,296 918 810
52 10
By 5
ZDMRRE 466 | B3t 466
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